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Arithmetic Operators T A malidl 5 sala

Operator Description Associativity T -
- 3 int maini{)
+ Unary plus Right to left
- Unary minus Right to left ¢
” T ; . o float numl, numz;
Multiplication Left to right
. . . . g float L,B,C,D;
/ Division Left to right o o R .
% Modules Left to right T cont << numl="<< endl; cin >> numl;
— - - 8 cont << "nmumZ="<< endl; oin > num?
g
10 4= muml+num2 ; B=—numl —muam2 ; C=mmam1 “nuam2 ;
. . . . . 11 D=numl /fnum2 »
& ¢ omad Ja & maliopl) = 3 sale -
Q|nt ij UA.JL.A\ )_’g_..uj\ @ g_u\JJ\ 13 cont << "A="<<A<<endl;
14 cont << "B="sJIB<C<Cendl
15 cont << "C="JJIC<<endl;
1& cont << "D="osDew<Cendl
17
18 retarn O
1%a }
e i L
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finclude <iostream>
nsing namespace std;
int main{)
H
int numl, num?;
float A,E;
cont << "numl="<< endl;
cont << "numZ="<< endl;
cont << "A="<<numl/num?2-
cont << "B="<<{numl¥num?-

return °;
}

cin >> numl;
cin >> numd;
< endl;
-<endl;

‘AW palidl ZA sala

Ly dtilaadla ¢ ga
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. 6)lioJl
numl= Ot
Q.3

numz2=

A=12
B=EC

—

|
Iul_l |'-.._'|

-
I

Y galiall & A
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=

¥include <iostrecam>

n=ing namespace =td:

int maini)
donoble numl
donble numz2E =

| I-.:'

[.)

- -
conmt << "muml="<< muaml<< o erndl
oot << "nmumE="o0 nmuamd <<l erndl

retorn O

numl=2

numz2=2.5
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/ regular_hours, over_hours, absence_hours /
v

regular_salary=1000000

\

Regular_hour_salary=regular_salary/regular_hours

PETERN{ U

v

over_hour_salary=Regular_hour_salary+(Regular_hour_salary*50/100)

aal

\!
over_salary=over_hour_salary*over_hours
N

TAX=Regular_hour_salary+(Regular_hour_salary*10/100)

A\

Taxes=TAX*absence_hours
i

S il

Total regular salary = regular_salary + over salary - Taxes

N
/ Total_regular_salary /
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$include <iostream>
n=ing namespace std;
int main()
=k
float regular Hour salary,over Hour salary,over salary, TAX,Taxex,Total;
Eﬂutt&"EntEI Iegular HDurs for thls mﬂnthEt"aaendl, cin == IegulaI_HDurs;
regular Hour salary=regular salary/regular Hours; SRk << reogular Hour salary:
cont<<"Enter over Hoursit"<<endl; cin »>»over Hours;
over Hour salary=regular Hour salary+(regular Hour salary*50/100);

over salary= over Hour salary * over Hours; ZEnE << oyer salary:

cont<<"Enter Hours of absencel\t"<<endl; cin >> absence Hours;
TA¥=regular Hour salary+(regular Hour salary*10/100);
Taxex=TAX* absence Hours; cout << Taxex:

hutal=regular_salary— over salary- Taxex;

cont << "Total =alary ="<< Total<<"SYP"<< endl;
retorn ©;
}

https://manara.edu.sy/
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Enter regular Hours
188

Enter over Hours

18

Enter Hours of absence

L,

dTotal salary =1.895e+8606

returned @ (8xa) execution time
key to continue.

gl s
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1 palai¥) 5 2y 3l

[

‘AW palidl ZA sala

deolo
6jligJi
1 #Finclude <iostreams
=
3 n=sing nam espace s=td;
> :
S int maini)
6 =
Fi int m,n;
8 cont<<<"m=";
S cin>=>m;
1 O n=—++m;
11 cont<<"m after n=4+4+m is5: m="<<m<<" and n="<<n<<endl
1 2 n=m++ ;
13 cont<<"n after n=m++ is: N="<<n<<" and m="<<m<<endl;
1 3 retarn O;
15 — }
1 &
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n=4++m 1is

n=m++ 1is

Proc
Press

returned
any key

to

B

m=6
n=6

{Bx8)

and
and m=7

6)li_aJl

n=6

exeCcution

continue.

time
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Assignment Operators

[

deola
&jliall

‘AW palidl ZA sala

1
.

3

4

5

+= e
7

_—— 8
. =
= 10
.||'= 11
12

%= 13
14

15

16

17

18

19

finclude <iostream:
n=sing namespace std;
int main()

=+

int i=5 , =7 , f=-3 ,

1+=5; fA1= 1435
a-=j: S fa=a—]
£f/=3; A E=ES 3
yi=i; FAy= y¥*i
mE=(i—-4) ; m= m%
cont <<"i="gg 1SN E"
cont << "y=" g4 yad

y=3 ,a=1l, m=15;

(i—4g

el Mg=Weo o a s Y Ml M=o Faoa M L™,
ALY o =" oo mg
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Assignment Operators

‘AW palidl ZA sala

[

&jliall

AR A LN Y

1 #include <iostream>

= n=ing namespace =td:
3 int main()

a [

5 || int i=5 , 3=7 , £=-3
& i=++1i;

7 || br=-a:

a8 f+=vy—-:

=) YE= m——:

10 || 3/=++a:

11

12 I

13 cont e Magp=T e yrela
14

15

le retorn O;

17 I

158 =

AL <o =" <o m -

v=3 ,a=L1l, m=15 , b=0;

CALLAE o My=" < §;
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f=-1 y=30 m=3
Process returned @ (6x8) execution time : 8.694 s
ress any key to continue.

i=6 b=6 =@ y j=7
[Process returned 6 (6x8) execution time : 8.83:
Press any key to continue.

c.)\.ul\ G.Atu,d\ CJ;
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IF-else
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IF-else-1F
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int maini)
' int x,v,sum;

cont <<Wx=" - oin = X:
cont <<Wy=" - oin »=> vW»

sum = X+y;
if (zum-=0)

cont << "S5um greater than zero®:

else

cont << "Sum less than zero®;

sum—zx+y

retorn O:
f/fffigkxﬂaTrue

False
%- sum=0 %
ff WRITE "Less than =zero™ HH !/ WRITE "Freater than =zero"™ fﬁ

+ + .

Sum less than zero
e Process returned @ (8x@) execution time : 4.375 s

i
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WRITE "temperature of water"

BERD temperature

temperature*] and temperature<lil
WRITE "It,s ice"
WRITE "It,s liquid" WRITE "It,s wapor"

https://manara.edu.sy/
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using namespace std;

int main|()

int Temperature ;

cout "Temperature of warter : %;

>in Temperature;

if ( Temperature <= )
cout *It is ice"

else if ( Temperature ) && Temperature <= 100)
cout "It is Liquid"™;

else
cout "It is Vapor"™;

return °;

I C:\Users\moon! Desktop\mmmibin\ Debug\mmm.exe

gl g A
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